

Rozwiązania edycja 3

1. B
2. A
3. D
4. C
5. C
6. C
7. D
8. D

Zad. 9.

rodzynki 40 dag = 0,4 kg

pestki dyni 60 dag = 0,6 kg

$$0,4 \text{ kg} * 12 \text{ zł/kg} + 0,6 \text{ kg} * 17 \text{ zł/kg} = 4,8 \text{ zł} + 10,2 \text{ zł} = 15 \text{ zł}$$

Zad.10.

$$s_1 = 90 \text{ km} \quad t_1 = 1,5 \text{ godz.} \quad v_1 = 90 : 1,5 = 60 \text{ km/h}$$

$$s_2 = 90 \text{ km} \quad t_2 = 1,25 \text{ godz.} \quad v_2 = 90 : 1,25 = 72 \text{ km/h}$$

$$v_2 - v_1 = 72 \text{ km/h} - 60 \text{ km/h} = 12 \text{ km/h}$$